HONORS CHEM FINAL REVIEW 07
DO NOT WRITE ON THIS PAPER!!!!!
1. The name for SO2 is __NO WRITING!!____.
2. The name of the compound NH4ClO4 is

3. The correct formula for ammonium sulfate is

4. The correct name for an aqueous solution of H2SO4 is

5. What is the correct name for a solution of HC2H3O2 is

6. Sodium chlorite has the formula

7. The name for the compound NH4F is 

8. The name for the compound Sn(NO3)2 is 

9. The name for the acid HNO3 is ______________.

10. The correct name for HClO4(aq) is ______________.

11. What is the correct formula for bromic acid?

12. The name for Ca3(PO4)2 is ______________.

13. The name for CF4 is ______________.

14. The name for N2O5 is ______________.

15. The name for the compound Fe2(CO3)3 is 

16. The name for the compound CCl4 is 

17. The name for the compound K2CrO4 is 

18. The name for H2S(aq) is ______________.

19. The name for KC2H3O2 is ______________.

20. The name for CuCl2 is ______________.

21. Using the rules of significant figures, calculate the following:  6.167 + 70 =

22. Using the rules of significant figures, calculate the following:  14.8903 - 2.14 =

23. Using the rules of significant figures, calculate the following:  12.67 + 13.005 =

24. Round 0.006781 to two significant figures, and express it in scientific notation.

25. How many significant figures are in the number 440.0
26. How many significant figures are in the number 0.020300?

27. What is the result of the following multiplication expressed in scientific notation to the correct number of significant figures?

(2.08 x 105)(7.0 x 10-5) =

28. The product of 0.1400 x (6.02 x 1023) will have how many significant figures?

29. Convert 0.092 ft3 to liters. (1 inch = 2.54 cm)
30. A sample containing 4.90 mol of silver has a mass of

31. A 42.8 g sample of mercury contains how many mercury atoms?

32. A 138.5 g sample of carbon represents how many moles of carbon?

33. What is the molar mass of Al(OH)3?

34. What is the molar mass of C12H22O11?

35. The molar mass of magnesium hydroxide is

36. Convert: 17.8 g CO2 = __________ molecules CO2
37. Convert: 34.6 g SiO2 = _____________ moles SiO2
38. Convert: 2.56 mol N2O = ________ molecules N2O

39. Convert: 3.0 x 1024 molecules H2O =____ mol H2O

40. A 75.0-mL sample of Hg (density = 13.6 g/mL) contains how many atoms of Hg?

41. Calculate the number of molecules in 0.000108 g of gaseous oxygen.

42. Calculate the number of moles of Cl2 molecules in a sample that contains 7.12 x 1025 molecules of Cl2.

43. What is the empirical formula of an oxide of bromine which contains 71.4% bromine?

44. A hydrocarbon has the formula C2H4. What is the percent by mass of carbon in the compound?

45. Determine the percentage composition of H2SO4.

46. Determine the percentage composition (by mass) of tin in tin(II) fluoride, to three significant figures.

47. A compound contains 40.0% carbon, 6.7% hydrogen, and 53.3% oxygen (by mass). Calculate empirical formula.

48. Determine the empirical formula of a compound containing 54.2% F and 45.8% S (by mass).

49. Calculate the molecular formula of a compound with the empirical formula CH2O and a molar mass of 150.
50. The empirical formula of a compound is known to be CH2, and its molar mass is 56 g/mol. What is the molecular formula?

51. A compound contains 12.8% C, 2.1% H, and 85.1% Br (by mass). Calculate the empirical formula and the molecular formula of this compound given that the molar mass is 188 g/mol.

52. A compound has a molar mass of 86 g/mol and has the percent composition (by mass) of 55.8% C, 37.2% O, and 7.0% H. Determine the empirical formula and the molecular formula.

53. A compound has a molar mass of 110 g/mol and the percent composition (by mass) of 65.45% C, 5.45% H, and 29.09% O. Determine the empirical formula and the molecular formula.

54. Balance the following equation for the reaction where hydrogen sulfide gas burns to form gaseous water and sulfur dioxide gas.

55. What is the sum of the coefficients of the following equation when it is balanced using smallest whole number integers?

NaNH2 + NaNO3  -->  NaN3 + NaOH + NH3
 When the following equation is balanced what is the number in front of the underlined substance?

56.   MgO(s)  -->  Mg(s) + O2(g)

57.   C2H6(g) + O2(g)   -->  CO2(g) + H2O(g)

58.   NaBH4 + BF3  -->  NaBF4 + B2H6
59.   MgCl2 + K3PO4  -->  Mg3(PO4)2 + KCl
60.   Al(s) + O2(g)  -->  Al2O3(s)

61. Balance the equation for the reaction of potassium metal with water.

Balance the following equations

62.  Mg3N2(s) + H2O(l)  -->  NH3(g) + Mg(OH)2(s)

63.  CaCO3(s) + HCl(aq)  -->  H2O(l) + CO2(g) + CaCl2(aq)

64.  PBr3(g) + H2O(l)  -->  H3PO3(aq) + HBr(aq)

65. Which of the following atoms has the largest atomic radius?  A. C      B. Na      C. Si      D. P       E. Mg

66. Which of the following atoms has the highest ionization energy?  A. P   B. Mg    C. Cl    D. Na     E. Si

67. Which of the following atoms has the smallest atomic radius? A. N      B. B      C. Sb       D. P     E. As

68. Metal atoms tend to ___ electrons and form ___ ions.

69. Order the elements S, Cl, and F in terms of increasing ionization energy.

70. Order the elements S, Cl, and F in terms of increasing atomic radii.

71. Which of the following properties generally increases as we go from the lower left to the upper right of the periodic table?

A. atomic number  B. number of electron shells

C. atomic size  D. ionization energy   E. NOTA

72. Nonmetal elements typically have ____ electronegativities.  A. neutral  B. low  C. strong  D. high  E. None of the above

73. Which of the following elements has the lowest electronegativity? A. S  B. Na  C. Ca  D. Cl  E. Rb

74. Which of these elements has the highest electronegativity?

A. Sr  B. Y  C. I  D. Sb  E. In

75. Arrange the following elements in order of increasing electronegativity (from the smallest to the largest).

A. N < C < Be < F  B. Be < C < N < F

C. C < N < F < Be  D. C < F < Be < N

E. F < N < C < Be

76. Which element or ion listed below has the electron configuration 1s2 2s2 2p6 3s2 3p6?

A. Ca2+  B. Cl  C. Br-  D. Se  E. two of these

77. The electron configuration for Ca2+ is identical with

78. Draw the Lewis electron structure for the Cl2 molecule.

79. Draw the Lewis electron structure for the HI molecule.

80. Draw the correct Lewis structure for the NH4+ ion.

81. Draw the Lewis structure for NI3.

82. Draw the Lewis structure for CO.

83. Draw the Lewis structure for HCN.

84. Which of the following has a triple bond?

A. H2S  B. NH3  C. H2O  D. CO  E. O2
85. What is the molecular geometry of H2S?

86. A 6.5 L sample of nitrogen at 25°C and 1.5 atm is allowed to expand to 13.0 L. The temperature remains constant. What is the final pressure?

87. A balloon has a volume of 1.20 L at 24.0°C. The balloon is heated to 48.0°C. Calculate the new volume.
88. A sample of an ideal gas containing 0.954 mol is collected at 742 torr pressure and 31°C. Calculate volume.

89. A 36.0 g sample of acetylene, C2H2( g), at STP is subject to a new temperature and pressure of 35°C and 805 mmHg. Calculate the new volume. 

90. A 251 mL sample of a gas at STP is heated to 45°C. The final pressure is 1.10 atm. Calculate the volume of this gas under the new conditions.

91. An oxygen sample has a volume of 4.50 L at 27°C and 800.0 torr. How many oxygen molecules does it contain?

92. What volume is occupied by 19.6 g of methane gas, CH4, at 27°C and 1.59 atm?

93.Zinc (II) metal is added to hydrochloric acid to generate hydrogen gas and another product The volume of the hydrogen gas is 1.7 L, and its total pressure is 0.810 atm at 25 oC  Determine the number of grams of zinc used.
94. When acetylene gas, C2H2, burns, how many liters of O2 at STP are used for every 4.0 mol of acetylene burned? (Hint: Write the balanced equation for the reaction first.)

95. How many liters of HCl(g) measured at STP can be produced from 4.00 g of Cl2 and excess H2 according to the following equation:

H2(g) + Cl2(g)  -->  2HCl(g)

96. Identify the Bronsted acids and bases in the following equation: HSO3- + CN- -->  HCN + SO32-
97. According to the Bronsted-Lowry definition, a base is…This question is asking you to memorize the dude table
98. Which of the following is a conjugate acid-base pair?

A. NH4+/NH3  B. H3O+/OH-  C. HCl/OCl-  

D. H2SO4/SO42-  E. None of the above

99. Choose the case that is not a conjugate acid-base pair.

A. OH-, O2-  B. HCO3-, CO32-
C. NH2OH2+, NH2OH  D. H3PO4, HPO42-
E. H3O+, H2O

100. Choose the case that is not a Bronsted conjugate acid-base pair.

A. O2-, OH+   B. HC2H3O2, H2C2H3O2+
C. NH3, NH4+   D. SO32- , SO42-
E. C2O42- , HC2O4-
